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CONTRACT -1

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.
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Q. No.

Q. No.

Q. No.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.
3. Answer should be written either in English or Kannada

completely.

Define acceptance and what are the rules of acceptance. Marks : 16
s:fv:':c:u, 32,852,280 TR SoNETRTE TN R)®) ?

Define fraud. Distinguish it from misrepresentation. Marks : 16
TCUEHCHTY TyeR.TA0. BTW IX) URTEOWOT ONEA.

Explain different modes of discharge of contracts. Marks : 16
TOOT0. JIRFICL DIF ARINT) 2020,

What are the remedies available for breach of contract ? Explain. Marks : 16

5208 LUgCHFEMN TRTHDT T0T0nTeyy 7 AT04.
Explain the doctrine of frustration with decided cases. Marks : 16

VSO 3’3’3% DEITCAT T,TTNRTHON DTOD.

By whom and against whom specific performance of contract
can be claimed ? Marks : 16

T003 AOFE, »szsocowﬁ; 0333V T 0IRT :btbd FeTuTOD 2

What is injunction ? Under what circumstances court can grant
perpetual injunction ? Marks : 16

SWFOTTY | 0TI ? o:irw ROTYFNFY, T, BRODF) T3
'\)?.u? Cdtsb&"fc\fbi) (‘u\du) -

P.T.O.
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Q. No. 8. Write short notes on any two of the following : Marks : 2x8=16
WRJTTTUR HTRG, LT WIWO
(a) Contingent contract.
TOLIZ[REOI TTITD.
(b) Free consent.
[08 :@oé
(c) Rectification of instruments.
ODETTZ, NS TR

w

Ra
(o

Q. No. 9. Solve any two of the following problems : Marks : 2x10=20
CINPYTRTTR TR AROAMG) LIRTOX :

(a) Akash promises to obtain for Krishna an employment in the Bank.
Krishna promises to pay Rs. 5 lakhs to Akash. Is the agreement valid ?

W, 07T, now.”br’ cn/wa en FRRJTON ©FTR PWISS wemva»a.

3

3;:;; ST 5 © i dn. BRTITS 0T WOSH BTN,

LBOWES L RBFSHe 9
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2

Mohan aged 16 years, agreed to sell his scooter to Gopal for Rs. 5,000/,
but later refused to perform his promise. Gopal institutes a suit against
Mohan. Will he succeed ?

HRITI 0L TOTL FCDAT BN, RO 3 3J, AT,
5,000/- Se. i SRTw wimvoms ©Td To¥0 @ Huss TR,
HEOTLO ATFOZE. NMACTROT  WBRBII QT TR
TRTDTE. =D WOPNVATNe 92

(c) ‘A’ atrader, leaves his bag containing fruits in the house of ‘B’ by

mistake. ‘B’ eats thase fruits. ‘A’ claims price of the fruits from ‘B’.
Decide.

‘

€' D0W W) WTOWD I, TeIS WewT) SPN WFeW0T ‘W'
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